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aRFH BREM et 100m/F
& % 58 1,045,932. 74 369, 485. 00 3, 693
WA ™ 60 349, 073. 00 314,152.00 3,116
Lt B 38 351,115.00 330, 423. 00 3,285
M & ™ 10 1 185, 217. 53 122, 629. 77 1,222
kR H 34 4 504, 126. 00 132, 249. 00 1,302
WA 8 719, 093. 00 49, 314. 00 491
A R H 8 65, 700. 00 23, 876. 00 238
N FEH 14 478, 252. 90 115, 037. 61 1,143
il F B ™ 10 1 112, 653. 00 109, 079. 00 1,087
By o 1R 10 65, 268. 00 32, 268. 00 321
a5 A ] 8 69, 155. 00 54, 870. 00 548
N ] 8 94, 843. 00 74, 900. 00 149
g T 5 50, 821. 00 47, 521. 00 475
* B W 5 58, 646. 00 46, 400. 00 464
B R 16 132, 866. 66 124, 866. 66 1, 241
B A ™ 18 181, 605. 00 103, 365. 00 994
F B 16 348, 568. 00 97, 000. 00 970
v I ] 3 21, 061. 00 11, 100. 00 111
ZEHH 18 1 214,110.00 107, 102. 00 1,063
N i HT 2 2 20, 731. 00 18, 700. 00 187
noE # 5 5 19, 440. 00 12,100. 00 121
m % H 1 1 18, 400. 00 71,000. 00 10
RN 1 1 9, 500. 00 9, 000. 00 90
db 48 K 1 1 2,500. 00 2,000. 00 20
£ A 7 HT 2 2 23, 982. 00 13, 600. 00 136
& R AT 12 12 203, 245. 96 30, 840. 00 307
ftn 1 B BT 2 2 21, 600. 00 20, 000. 00 200
I KM OH 1 1 9, 843.00 6, 000. 00 60
7T A # 3 3 23, 000. 00 21, 500. 00 215
& 1 M 2 2 12, 008. 00 8, 000. 00 80
T W FhET 3 3 34, 883. 00 32, 040. 00 320
ET RHE 2 2 332, 000. 00 26, 970. 00 269
IR it 5 5 209, 887. 00 59, 308. 85 593
& % H] 5 5 111, 500. 00 24,700. 00 247
H & M 6 6 54, 677. 00 27, 333. 00 272
R & HT 4 4 48, 783. 00 48, 783. 00 486
B E WA 1 1 14,165. 00 13, 000. 00 130
oA 2 2 19, 636. 00 18, 500. 00 185
= H # 2 2 21, 639. 00 18, 500. 00 185
Wi Er 2 2 3,216. 00 2, 200. 00 22
= & B 11 11 45, 511. 00 45, 511. 00 451
ol F 2 2 10, 607. 00 3,574.00 35
P& # 1 1 16, 952. 00 16, 952. 00 169
T B/ F 1 1 6, 300. 00 6, 300. 00 63
- 1 1 3,417.00 3,000. 00 30
. 1 1 11, 837.00 8, 000. 00 80
B % X & 1 1 37, 989. 00 13, 800. 00 138
X BE ¥ 1 2 3 15, 510. 09 14, 600. 00 146
O R BN 1 1 31, 876. 00 16, 300. 00 163
&5 AN F 1 1 3, 480. 00 3, 000. 00 30
2 B A 1 1 10, 000. 00 8, 000. 00 80
X B # 5 3 8 11, 960. 14 3,825.00 37
£ @ fT 1 1 2 10, 000. 00 9, 000. 00 90
[ | 2 2 9, 600. 00 8, 000. 00 80
A 8 # 1 1 9, 756. 00 6, 000. 00 60
E E A 1 1 1, 300. 00 842.00 8
X £ H 1 1 1,700.00 1, 200. 00 12
X & A 1 1 3,025. 00 2, 500. 00 25
R fE 4 4 17,897.00 14, 200. 00 142
£ R H 1 2 3 5, 050. 00 3,700. 00 37
W # 1 1 8, 000. 00 8, 000. 00 80
B A # 1 1 2 1,700. 00 6, 500. 00 65
oAk 2 2 4,023.00 4,013.00 39
bl == I 1 1 36, 934. 00 21, 360. 00 213
Wl # 2 2 9,845.00 5, 000. 00 50
B B # 1 1 16, 500. 00 16, 500. 00 165
N B 3 3 5, 500. 00 4, 400. 00 44
RO AT 8 8 64, 936. 00 30, 200. 00 302
/> 1 e BT 5 5 35, 532. 00 18,192.00 181
= W 4 4 38, 600. 00 28, 000. 00 280
g = fT 3 3 13, 100. 00 10, 300. 00 103
A # 2 2 20, 107. 00 17, 000. 00 170
BR 48 HT 3 3 14, 465. 00 13 200. 00 132
W/ A Hr 2 2 39, 544. 00 71, 500. 00 15
XE T #H 2 2 10, 490. 00 10, 490. 00 104
5 R B R H 1 1 12, 300. 00 10, 000. 00 100
x ([ 3 3 24, 034. 00 14, 789. 56 146
& F 500 | 16 4 520 | 6,248,120.02 3,105 461.45 | 30,893




